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ΟΜΑΔΑ  Α 

 
Α.1.       γ 
 
Α.2.      δ 
 
Α.3.     β 
 
Α.4.     γ 
 
Α.5.   γ 
 
Α.6.  1-γ,  2-δ,  3-β,  4-στ 
 
Α.7.    α. Σ,  β. Σ,  γ. Σ,  δ. Λ,  ε. Λ. 
 
A.8.  

x y x x + y x(x + y) x(x + y) x 
0 0 1 0 0 0 
0 1 1 1 0 0 
1 0 0 1 0 0 
1 1 0 1 1 0 

Άρα  x(x + y) x = 0 
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ΕΞΟ

ΕΙΣ

o
I

o

I
A  = 20  = 20dB

I
ogl  

         β.  ΕΞΟ ΕΞΟ ΕΞΟ
P -2

ΕΙΣ ΕΙΣ ΕΙΣ

P V I 10A  = 10  = 10  = = 10  = 30dB
P V I 10

og og og
⋅
⋅

l l l  

 
Β.3.  α. ΧL = L.ω = 400Ω 
         β. 2 2Z = R  + (Lω)  = 400 2 Ω = 565,6 Ω  
         γ.  ΠEN ΕΝ πV  = Ι Z  = 80 V⋅

         δ. REN ΕΝV  = Ι R = 40 2 V = 56,56 V⋅  

         ε. R 2συνφ =  =  = 0,707
2 2  

στ. 
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2 1Z΄ = R  + Lω -  = 500Ω
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       ζ. Rνφ΄ =  = 0,8
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